Chapter 3.1 Notes
Functions

* Relation = a correspondence between 2 sets. ( x corresponds to y)
* Domain = set of all inputs for a relation. (The 1st number in an ordered pair.)
* Range = set of all inputs. (The 2nd number in an ordered pair.)

* Function = every element in the domain can corresponds to only 1 element in the range. (The x’s can
not repeat)
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1. Find the domain of the function. %L‘X.S = lox
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xd- | at the denominator.
* The denominator can not equal 0.
% * Write down the denominator “ £ 0 “.
(XQ - 71' o * Then solve for x.
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* So this tells us that “x” can be any number but
a ‘i ( the these numbers.
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* Write the domain using interval notation with
! Xa -4; ‘/l_ “U” between them.
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2. Find the domain of the function. FQ)Q) = 5 X% (_'Y"(OB
- =

Dy -0x]
Fen = 5% (x-k)
QO"K} 7 * When finding the domain of a fraction, just look
at the denominator.
\/ * The denominator can not equal 0.
3%2 QO% 1 ‘-l'— O * Write down the denominator “ #+ 0 “.
0 T cz-7 * Then solve for x by using the quadratic
a3 b<=-J0 formula.

* So this tells us that “x” can be any number but
-b*f |b-d00 the these numbers.
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3. Find the domain of the function. S: (0 = j "{'\( ’Qg\

S:'Q)C) = \‘i 4 -a4 * When finding the domain of a square root, it

will have to be greater than or equal to O.
(Because we can not have a negative under a
square root.)
l\}% - & q, > O * Write down what’s under the square root sign
— 1\ > O y
+ Ay +34 * Then solve for x.
* So this tells us that “x” will be greater than or
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c9 (_‘ equal to this number.
* Write the domain using interval notation.
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4. Find the domain of the function. $Q() z ’_«2‘}_‘
Ix-5

S: Q‘)Q = g X * When finding the domain of a fraction, just look
—_— at the denominator.
X-5

* The denominator can not equal 0.

* Write down the denominator “ £ 0 “.

\] X - 5 —‘T' O * Now, since we have a square root, we will write

down what’s under the square root sign and
then 50"

x-S > O

£ 5 S So, this tells us that will be greater than or

equal to this number
_’—"-”) . . . . .
* Write the domain using interval notation.
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5. State the domain and range for the following relation. Then determine whether the relation represents a
function,
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* Label the first number in each ordered pair
“D” and the second number in each pair “R”.
* Now the domain will be each number that

you labeled with a “d”. ( If a number repeats,
(D only write it down once,
OW\Q,()(\ — (o - \ q (0 * The range will be each number that is labeled
1 \ ) . “p i
with and “R”. (If a number repeats, only write

/R \\ it down once.)
_ * If a number repeats in the domain, then it is
On %‘e— — m not a function.
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6. State the domain and range for the following relation. Then determine whether the relation represents a
function,
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R * Label the first number in each ordered

R R pair “D” and the second number in
each pair “R”.

* Now the domain will be each number
that you labeled with a “d”. (If a

number repeats, only write it down
Dommn = ’_I,%\O\I\O once,
* The range will be each number that is
labeled with and “R”. (If a number
(\D\ Ok)(\%e/ = repeats, only write it down once.)
* If a number repeats in the domain,
then it is not a function.
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7. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.
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8. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

Fep) = %5 9L = g2
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